| | DALLAS COUNTY TABULATION SHEE | et | VEN | IDOR #1 | | | VENDO | R #2 | | | VENDOR : | # 3 | | | VENDOR | #4 | | |
|-----|---|-----------------------|-----------------------------------|---|--|--|---|----------------|---|----------------------|---|-----------------------|---------|--------------------|--|---------------|---|--------------------|
| | Facilities OPENING DATE: 2/16/09 | | 1330 Dov Hutchins, | Lloyd D. Nabors Demolition, LLC 1330 Dowdy Ferry Road Hutchins, Tx 75141 Lloyd D. Nabors | | | Billy L. and Joan Nabors, Inc. 2802 N.Hwy 175 Segoville, Tx 75159 Felica Gomez, VP | | | | D.H. Griffin of Texas, Inc. 8690 Lambright Rd. Houston, Tx 77075 John F. Angelina, Pres. | | | | Lindamood Demolition, Inc. 2020 S. Nursery Irving, Texas 75060 Kayla Lindamood, Pres. | | | |
| | Contract effective: upon award County Taxpayer? NCTRCA M/WBE/EEO1 completed? Addendum No. 1 acknowledged? | | 972.225. yes non/yes yes | | | 9 1 | 972.287.2287 yes no/yes ves | | | | 713.991.4444 no not submitted ves | , | | | 972.721.0898 yes yes/yes yes | | | |
| | DESCRIPTION | | , | | | | , | | | | , | | | | , | | | |
| 1 | Base Bid for work at: 4639 Harry Hines 4711 Harry Hines | | | | | | | | | | | | | | | | | |
| | Material to be incorporated into project: Labor, Overhead and Profit : | | | | 12,000.00 57,684.00 | | | | 7,000.00 0,000.00 | | | \$ \$ 323,78 | 1.00 | | | | 0,000.00 2,876.00 | |
| | Total bid item 1 | | | \$ 10 | 69,684.00 | | | \$ 26 | 7,000.00 | | | \$ 323,78 | 1.00 | | | \$ 34 | 2,876.00 | |
| 1.2 | Base bid for work to be done at 10505 De | nton Drive | | | | | | | | | | | | | | | | |
| | Material to be incorporated into project: Labor, Overhead and Profit : | | | | 8,000.00 60,731.90 | | | | 8,000.00 8,000.00 | | | \$ 18,00 \$ 155,46 | | | | | 0,000.00 2,628.00 | |
| | Total bid item 1.2 | | | \$ | 68,731.90 | | | \$ 10 | 6,000.00 | | | \$ 173,46 | 6.00 | | | \$ 19 | 2,628.00 | |
| | | Subtotal: | | \$ 23 | 38,415.90 | | | \$ 37 | 3,000.00 | | | \$ 497,24 | 7.00 | | | \$ 53 | 5,504.00 | |
| 2 | ALTERNATE No. 1: Provide price for rerouting all utilities at Hasite to facilitate preparation of new pad sit any utility lines while maintaining independent on-disruptive service to the buildings on teast end of the property. Material to be incorporated into project: Labor, Overhead and Profit: Total bid for Alternate 1 (ADD) | e clear of ent and | | \$2 | 18,384.00 26,490.00 44,874.00 | | | \$ | 2,000.00 8,000.00 0,000.00 | | | no bid no bid | | | | \$ 1 | 7,000.00 5,500.00 2,500.00 | |
| 3 | ALTERNATE NO. 2: Concrete/Brick Ma | aterial | | | | | | | | | | | | | | | | |
| а | Specify Add/Deduct to: Haul crushed stone - concrete and/or bric crushed to 2" or smaller from 4639 & 471 to Dallas County R&B District 3 | | Est.qty 7000 | add unit p \$ | rice/cuyd 14.25 | total ######### | Est.qty 9564 | unit pri \$ | ice/cuyd 8.00 | total \$76,512.00 | add Est.qty 5900 | unit price/c \$ | | total 57,702.00 | add Est.qty 4000 | unit pr \$ | ice/cuyd 18.00 | total ######### |
| b | Specify Add/Deduct to: Haul crushed stone - concrete and/or bric crushed to 2" or smaller from 10505 Dente to Dallas County R&B District 3 | | 1400 | add \$ | 15.72 | ###################################### | 3500 | \$ | 8.00 | \$28,000.00 | add 2100 | \$ 1 | 0.64 \$ | 22,344.00 | add 1200 | \$ | 18.00 | ######## |
| С | Specify Add/Deduct to: Haul concrete and/or brick, (clean materia from 4639 & 4711 Harry Hines to Dallas County R&B District 3 | l only) | | add 7000 \$ | 1.25 | \$ 8,750.00 | 11476 | \$ | 2.00 | \$22,952.00 | add 5900 | \$ | 9.78 \$ | 57,702.00 | add 4000 | \$ | 10.00 | ####### |
| d | Specify Add/Deduct to: Haul concrete and/or brick, (clean materia from 10505 Denton Drive to Dallas Count R&B District 3 | | | add 1400 \$ | 2.50 | \$ 3,500.00 | 4000 | \$ | 2.00 | \$ 8,000.00 | add 2100 | \$ 1 | 0.64 \$ | 22,344.00 | add 1200 | \$ | 10.00 | ######## |
| | Health Insurance Coverage for Employees Does your company provide health insuran | | | yes | | | | yes | | | | yes | | | | yes | | |
| | If yes, does the company share in the cos only coverage and 50% for family coverage | | | | 5% covera | ge for employee family | е | no | | | | yes | | | | no | | |

| Is the coverage comparable to services provided by Dallas County? | yes | yes | yes | yes |
|---|-----|-----|-----|------------|
| If your company plans to utilize subcontractors in the fulfillment of this bid, does each of the subcontractors provide health insurance coverage to their employees that compares to Dallas County's health coverage and share | no | yes | yes | na no subs |

in the cost?

| DALLAS COUNTY TABULATION SHEET | 1 | VENDOR | #5 | | | VENDOR | #6 | | | VENDOR | R #7 | | |
|---|-------------------------------------|--|-----------------------|---|------------------------|---|---------------------|-------------------------|-----------------------|--|------------|--|-----------------------|
| Solicitation #: 2009-031-4169 OPENING DATE: 2/16/09 Contract effective: upon award | Demolition of Various Facilities | E.W. Wells Gro 3100 Main Stre Dallas, Tx 752 Mark Williams, 214.421.2700 | et #45 26 | ng Partner | | Intercon Envir 210 S. Walnut Mansfield, Tx Karen Andrews 817-477-9995 | Creek I 76063 | Dr. | | MIINC, LP 1960 W. North Dallas, Tx 752 William J. O'D 214.575.9600 | 220 | • | |
| County Taxpayer? | | yes | | | | no | | | | yes | | | |
| NCTRCA M/WBE/EEO1 completed? Addendum No. 1 acknowledged? | | yes/yes yes | | | | yes/yes yes | | | | no/yes yes | | | |
| Addendam No. 1 acknowledged? | | yes | | | | yes | | | | yes | | | |
| DESCRIPTION 1 Base Bid for work at: 4639 Harry Hines 4711 Harry Hines Material to be incorporated into project: | | | | 4,709.00 | | | \$ | 99,090.00 | | | \$ | 201,496.00 | |
| Labor, Overhead and Profit : | | | \$ 15 | 0,000.00 | | | \$ | 415,524.00 | | | \$ | 484,165.00 | |
| Total bid item 1 | | | \$ 40 | 4,709.00 | | | \$ | 514,614.00 | | | \$ | 685,661.00 | |
| 1.2 Base bid for work to be done at 10505 Der | nton Drive | | | | | | | | | | | | |
| Material to be incorporated into project: Labor, Overhead and Profit : | | | | 1,241.00 0,000.00 | | | \$ \$ | 40,000.00 275,448.00 | | | \$ \$ | 68,874.00 250,304.00 | |
| Total bid item 1.2 | | | \$ 26 | 1,241.00 | | | \$ | 315,448.00 | | | \$ | 319,178.00 | |
| | Subtotal: | | \$ 66 | 5,950.00 | | | \$ | 830,062.00 | | | \$ | 1,004,839.00 | |
| 2 ALTERNATE No. 1: Provide price for rerouting all utilities at Ha site to facilitate preparation of new pad site any utility lines while maintaining independent one-disruptive service to the buildings on the east end of the property. Material to be incorporated into project: Labor, Overhead and Profit: Total bid for Alternate 1 (ADD) | e clear of dent and | | \$5 | 0,000.00 0,000.00 0,000.00 | | | \$40. \$60. | | | | \$ \$ | 28,500.00 29,460.00 57,960.00 | |
| 3 ALTERNATE NO. 2: Concrete/Brick Mate Hauled to RB #3. | Prial | | | | | | | | | | | | |
| Specify Add/Deduct to: Haul crushed stone - concrete and/or brick crushed to 2" or smaller from 4639 & 4711 to Dallas County R&B District 3 | | Est.qty 7076 | add unit pri \$ | ce/cuyd 44.11 | total \$ 312,122.36 | Est.qty 8000 | add unit p \$ | orice/cuyd 12.34 | total \$ 98,720.00 | add Est.qty 11373 | unit \$ | price/cuyd 22.00 \$ | total 5 250,206.00 |
| Specify Add/Deduct to: Haul crushed stone - concrete and/or brick crushed to 2" or smaller from 10505 Dento to Dallas County R&B District 3 | | 1557 | add \$ | 51.43 | \$ 80,076.51 | 7810 | add \$ | 16.60 | \$129,646.00 | add 3012 | \$ | 22.00 \$ | 66,264.00 |
| Specify Add/Deduct to: Haul concrete and/or brick, (clean material from 4639 & 4711 Harry Hines to Dallas County R&B District 3 | l only) | 7076 | add \$ | 14.51 | \$ 102,672.76 | 8000 | add \$ | 19.08 | \$152,640.00 | deduct 2274 | 1 5 | 50 \$ | 5 1,137,250.00 |
| Specify Add/Deduct to: Haul concrete and/or brick, (clean material from 10505 Denton Drive to Dallas County R&B District 3 | | 155 | | 19.63 ext: \$20,564 | \$ 30,563.91 1.00 | 7,810 | add \$ | 25.60 | \$199,936.00 | add 602 | 25 \$ | 1.40 \$ | 8,435.00 |
| Health Insurance Coverage for Employees Does your company provide health insurar | | | no | | | | no | | | | yes | | |
| If yes, does the company share in the cost only coverage and 50% for family coverage | | | no | | | | no | | | | yes | | |

d

| DALLAS COUNTY TABULATION SHEET | | VENDOR #5 | VENDOR #6 | VENDOR #7 |
|--|-----------------------------|---|---|---|
| Solicitation #: 2009-031-4169 Demolition of Vario | | E.W. Wells Group LLC 3100 Main Street #45 | Intercon Environmental, Inc. 210 S. Walnut Creek Dr. | MIINC, LP 1960 W. Northwest Hwy., Suite A |
| OPENING DATE: 2/16/09 | | Dallas, Tx 75226 Mark Williams, Managing Partner | Mansfield, Tx 76063 Karen Andrews, President | Dallas, Tx 75220 William J. O'Dwyer, President |
| Contract effective: upon award | | 214.421.2700 | 817-477-9995 | 214.575.9600 |
| County Taxpayer? | | yes | no | yes |
| NCTRCA M/WBE/EEO1 completed? | | yes/yes | yes/yes | no/yes |
| Addendum No. 1 acknowledged? | | yes | yes | yes |
| Is the coverage comparable to services pro | vided by Dallas County? | no | no | yes |
| If your company plans to utilize subcontract does each of the subcontractors provide he their employees that compares to Dallas Co | ealth insurance coverage to | no re | no | yes |

in the cost?